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Maths  
Monday 11th January 2021 
 

L.O. To select money 
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Today we are going to learn how to choose coins to make given 
amounts of money. There will always be more than one way to 
make any amount, but I want you to think of ways that use the 
least amount of coins. So, for example, if I wanted to make 60p I 
could use 6 10ps because 6 lots of 10 is 60. Alternatively I could use 
12 lots of 5p because 12 x 5 is also 60. If I wanted to, I could even 
have 60 1ps or 30 2ps. They would all add up to 60p. However, 
each of these ways involves lots of coins. They would take up a lot 
of room in my purse and be very heavy. There’s a much better 
way using less coins! I could use a 50p and a 10p. That’s a much 
better way to make 60p.  

As you work through our tasks today, I want you to try to use the 
least amount of coins to make the amounts shown.  I know you 
can do this, as you are fabulous mathematicians and I can’t wait 
to see your work.  

Look out for our 
Challenge Bot.  
He sets some extra 
tasks for you to do, 
but only if you want 
to. 
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L.O. Select Money 

Key Vocabulary 
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L.O. Select Money 

Fluency 
Play the counting coins game at :   
https://www.topmarks.co.uk/money/coins-game 

Choose ordering – 6 coins.   

This is one of my favourite money games. Let 
me know how you like it.  
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L.O. Select Money 

Anchor Task 
Which one does not belong? Why?  
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L.O. Select Money 

Anchor Task: 
Answer 
Which one does not belong? Why?  

C doesn’t belong as it shows £9 and 85p, not £10 and 85p like the 
other amounts of money.  
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Explore Select Money 

Can you make these amounts using the 
coins shown?  

56p 

19p 

17p 

28p 
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Answers Select Money 

56p 

 19p 

17p 

28p 
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Explore Select Money 
Now choose the coins to make these amounts, but 

try to use the least number of coins you can.  

15p 

6p 

25p 

 30p 
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Answer 

15p 

6p 

25p 

 30p 

Can you see how I have used the least number 
of coins?  

In the first example, I could have used the 2 x 2ps and the 1p to make 
5p but that would not have been the best way. The 5p is the most 
efficient way. Talk to your grown up about this.  
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Guided Task Select Money 

Which does not show 50p? 

A 

C 

B 

D 
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Answers Select Money 

A 

C 

B 

D 
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Guided Task Select Money 

Which does not show 50p? 

A 

C 

B 

D 



masterthecurriculum.co.uk 

Answers Select Money 

A 

C 

B 

D 
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Guided Task  Select Money 
Draw money in the piggy bank to show the given amounts. Try 

to use the least amount of coins as possible 

56p 
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Answers Possible solutions 

56p 

OR	

There are lots of ways I could do this. But 
can you see how this way, uses the 

least amount of coins. 
 
 



masterthecurriculum.co.uk 
17 

Guided Task  Select Money 
Draw money in the piggy bank to show the given amounts. Try 

to use the least amount of coins and notes as possible 

£10 and 21p 
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Answers Possible solutions 

£10 and 21p 

OR	

There are lots of ways I could do this but 
can you see how this example uses the 

least amount of coins and notes . 
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Guided Task Select Money 
Draw money in the piggy bank to show the given amounts. Try 

to use the least amount of coins and notes as possible. 

£17 and 23p 
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Answers Possible solutions 

£17 and 23p 

OR	

There are lots of ways I could do this but can you 
see how this example uses the least amount of coins 

and notes . 
 
. 
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Independent  Task  

Draw the coins to 
make the amounts  
shown. Try to use the 
least amount of coins 
or notes!  
 
Hint:  
 It’s sometimes easier to 
just write the values of 
the coins rather than 
draw them: 
 
32p = 20P +10p+2p 
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If you’re finding the 
task a little trick, try 

these first.  
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If you want a little 
extra challenge, why 

not have a go at 
these extra tasks. 
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Select Money Problem solving 
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Select Money Problem solving 

ü ü ü 

ü 
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Select Money Reasoning  1 

Do you agree? 
Explain why. 

Esin says, 

I have 53p in silver coins. 



masterthecurriculum.co.uk 
27 

Select Money Answer 

Do you agree? 
Explain why. 

Esin says, 

I have 53p in silver coins. 
No, because 3 

pence can 
only be made 
with copper 

coins. 



masterthecurriculum.co.uk 
28 

Select Money Reasoning  2 
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Answer 

False. 
 
The piggy 
bank shows 
£4 and 26p. 



masterthecurriculum.co.uk 
30 

Select Money 

Circle the odd one out. 

Reasoning  3 

Explain your answer.	

23p = 20p, 2p, 1p 
	

25p = 20p, 5p 
	

28p = 20p, 8p 
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Circle the odd one out. 

Answer 

23p = 20p, 2p, 1p 
	

25p = 20p, 5p 
	

28p = 20p, 8p 
	

28p = 20p, 8p is 
because if you are 
using coins there is 

not an 8p coin. 
Children may give 

other answers. 
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Well done Year 2. You are 
brilliant.  
 
Don’t forget to send your 
work to me via our class e-
mail address.  


